Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

."d'
- N

18MES1

Flfth Semester B.E. Degree Exammatlon, Jan./Feb. 2021
Management and Economics

Max. Marks: 100

. 1 Answer any FIVE full questions, choosing ONE full question ﬁ'om each module.
2. Use of Interest factor table is permitted.

Module-1
Define meaning of management and explain characteristics of management. (06 Marks)
Discuss different levels-of management. (06 Marks)
Briefly explain the early management approaches. (08 Marks)
OR
Discuss the importance and purpose of planning process. (10 Marks)
. With the help of block diagram, explain hierarchy of plans. (10 Marks)
“Module-2
List and explain in brief the prmc1ples of organization. " (14 Marks)
.- Discuss the need of committees in an organization with classification. (06 Marks)
: OR
Explain in brief different leadership styles. (10 Marks)
Explain the essentials of a good sound control system. (10 Marks)
Module-3
Engineers are now expected not only to generate novel technological solutions but also to
make skillful financial analysis of the effects of implementation. Discuss. (06 Marks)
State and explain the law of supply is demand mentlonmg the factors influencing it.
(08 Marks)
Find the effective rate of interest for an actual rate of interest of 10% when compounded:
(1) yearly (i1) biannually - (ii1) quarterly
‘(iv) monthly (v) daily (vi) hourly (06 Marks)
OR
Explain time value of money assuming amount of your choice and draw the cash flow
diagram. (08 Marks)

A 45 year old person is planning for his retired life. He plans to direct Rs.30,000 from his
bonus as investment every year for the next 15 years. The bank fives 12% interest rate
compounded annually. Find the maturity value of his account when he is 60 years. (04 Marks)
A person wants to gift a car to his daughter when she would turn 18 years, six years from
now. He decides to put away money in her name during her next six birthdays. He wants to
deposit Rs.25,000-in the year to go on increasing it by Rs.5000 every year for the next 6
years. If he estimates that a car would cost Rs. 5 lakhs when he wants to buy one, how much
more money should be added to the maturity amount that he receives from the bank if it
assumed at 11.5% compounded annually. (08 Marks)
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Module—4

year service, at an interest rate of 5% when nelther cottage has a realizable cottage value.

Cottage 1 | Cottage 2
First cost Rs.4500 |.Rs.10,000
Estimate life ‘ 12 years '| 24 years
Annual maintenance cost | Rs.1000 Rs.720

(10 Marks)
An investor can make three end of the year payments of Rs.15000 which are expected to
generate receipts of Rs.10,000 at the end of the year 4 that will increase annually by Rs.2500
for the following 5 years. If the investor can earn a rate of return of 10% on the other 8 year

investments in this alternative attractive? (10 Marks)
OR

Define the followmg terms: (i) MARR (ii)) IRR (iii) ERR. What are the clues of IRR

calculations? (10 Marks)

Rs.10 crores was generated by the management of an engineering college for the
construction of its new mechanical science block. Annual maintenance of the block is
estimated to be Rs.10 lakh. In addition Rs.12 lakh will be needed every 10 years for painting
and Hoyer repairs. If the budget granted has to take care.of perpetual maintenance, how
much of the amount can be used for initial construction costs? Deposited funds can earn 6%
rate of interest compounded annually. Assume that taxes and inflation do not come into

picture. (10 Marks)
Module-5

List and explain five methods of depreciation. (10 Marks)

Discuss the various causes of depreciation. - (05 Marks)

A high-tech bus was initially bought for Rs.50 lakhs. Its salvage value after 5 years of
service would be 10 lakh. In its life time it can be driven for a distance of 10 lakhs kms in its
5" year of operation. If it has already traveled a total distance of 8 lakh kms, find the
depreciation of the bus at the point. (05 Marks)

OR

Explain how selling price is determined for product with a block diagram. (06 Marks)
Computers purchased by a public utility cost Rs.7000 each, past records indicate that they
have useful life of 5 years, after which they'will be disposed off, with no salvage value. The
company currently has capital of 7%. Determine the following by using straight line method.

1) Depreciation charges per year

i) Depreciation reserve accumulated at the end of 3" year.

1i1) Book value at the end of third year. (06 Marks)
The original assets of the company are Rs.5,80,000. The life of the plant is 9 years. If the
scrap value of the time is expected to be 80,000. Calculate the depreciation at the end of
each year by sum of the year method. (08 Marks)
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It has assumed great

2(a Amportance of Planning
! jzatl -CSS.
ing is of i i ance lor wanizational succes :
Planning 1s of immeganse, imporeance [or org i 1” managcmcm i
- cei .o Planning serves as gl :
importance in all types of organizations. Planning serve .5 o b POims:
The importance of planning can be inferred on the basis of the .
i i chievin
‘ ject ' s atrention for achicVilp
(2) Planning focuses atention on objectives and_results. [c direct rion.1of S
 orgar nal objective: 1 niza .
these orgnniz;uional objectives. It charts the course ofacuo'u for orga :
IFSCn-esm:‘ls_:;_bll‘iérprin[ for achieving goal and !‘?ﬁkllts.
: : ' 1 in which the business
(b) Planning off-sets future uncertainty and change. The environment : -
| . ' ' ' i stoc
: operates is dynamic and is uncertain. Planning enables orgamzatlion y p /
' inimize ri i i vantage o
uncertainty and change Planning helps to minimize rlsII]_c‘whllc__tg___lr_lg_,a vantage of
Opporrunitics.
i to the employees of the organization as awarencss

Planning provides sense of directio
’-f"‘—-r_ ' . B
of goals, acts as a mouvatng factor.
asing complexity in modern busine
mechanizartion, g[obalization,

e to factors like specialization,
lays down important criteria like what is to be done,

how it is to be done and who has to do

ss. Business is becoming

.‘(E):

(d) Planning tackles incre
- corﬁb]cx day—bf-déy du
liberalization, ctc. As planning

when it is to be done, where it is 10 be done,
it, tackling complexity becomes increasingly efficient.

~(c)  Planning encourages creativity and innovation as planning is process of looking forward.
It enables organizations not only to cope with technological developments but also

forecast the future trends.
Planning helps i inati T in -
lanning helps in coordination. The coordination is achieved through well defined

(f) Plan
objectives, policies,
- SPI c;, programmes and procedures. According to Koontz and O’Donnell
elected co :
urses along which the management desires to coordinate group

“

action.”

Y In operati : aF
1 operations as it facilitates _optimum utiliz_:niiilm_......--"r the
he

(g) Planning q‘nﬁ:{blcs efficienc
ducing costs. This improves ¢

availabl .
allable resources, thus Increasing econ b
S e - . -C! Omy y re
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2(4) .
lanning Process/Steps in Planning
. ime and efforts of th
Planning process is a vital managerial function and consumes lot of time an ¢

, : " i 1e following steps.
PJRIHICI‘S. I[ ]\ to bc dOllC n a _Q)r_qlmn:”“_- way :lI'ld It contains d g p

o : sanizational activity. Befor

()  Opportunity Awareiess: Environment affects any organizat ' . Y : .c
: . : ities that exist for

embarking on actual planning one must weigh the opportunit d Al £ s

X S . i social ractors |

performance. This kind of awareness on business environment an IS Is

: : . ‘ - i lanning.
very important in planning process. It is the starting point of p B

_(b)  Establishing Objectives: This is the first step in the planning process. In this step the
organization goals are identified and the external as well as internal factors that affec
organization are thoroughly cxamined. These objectives set the pattern and decide
the course of action that should be taken. The companies future aspiration are clearly

spelt out in quantifiable terms with time relevance i.c., what is to be accomplished by
the company, vwhen and how, etc.

(c)  Planning Premises: Various factors that affect planning are called planning premises.

Factors like political factors, legal factors, govt. policies and controls, demand and

price of the products, availability of raw materials, labour, technology, etc., have a
significant effecc on the planning process. The information must be collected-as

ard to the above and analyzed to make certain._forecast
acton that is to be undertaken

accurately as possible with reg

abour future course of
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. (d)

- A€)

(f)

Ag)

{h)

Tdentifyi
031 ) . v . \ . . .
e dfying Alternative Courses of Action: Various available alternatives are examined
in the lig s . - ; ]

= J'b]" Orl’hllmllg: premises, These aliernatives are subject to evaluation. More

the number of alternatives, more chances of formulating a optimally successful plan.
According to Koontzand O'Donnell, “There is scldom a plan made for which reasonable

alternatives do not exist. Moreover, before weighing alternatives and reaching a decision,
one is wise to search for alternatives that may not be immediately apparent. Quite

often an alternative does not immediately prove to be the most profitable way of

undertaking a plan.”
Fvaluating Alternative Courses of Action: The various alternatives are evaluated as to
their suitability to that particular organization on one hand and the effect of planning
premises on the other. The alternatives weighed to determine the best alternative.
Selecting the Best Course: After evaluating the various alternatives, thc_rrlggt_\_f_'!_a_t_)_lg_gnt
ood from the

is selected. Some times more than one alternative may be equally g
f view and a combination of alternatives are considered in such an

—

organization point o

eventuality.
Formulating Derivative Plans: After selecting the best course of action, the next step

is to formulate sccondary plans to suppore the basic plan. The derivative plans are

detailed plans derived from various departments, units, and activities. The derivative

plans indicate the time schedule and sequence of various activities.
tion and Participation: The successful execution of any plan depends
Jation of employees. So, the management should involve

Securing Coopera
consultation and_ participation

upon the extent of partici|
employees in planning through cominunication,

Providing for Follow up: There should be a system of follow-up. The fmanagement
o is being done. The shortcomings of planning can be

should watch how the plannin
 a follow-up action and rectified then and there. The continuous

identified througl
evaluation of planning is also necessary. lt means that the actual performance is
{ then corrective action is taken if there is any deviation.

compared with the planning anc
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?}(Q- ,, i \_,/"{ WA . /'*' \
“Principles of Organization -

f organization decide the success OF otherwise of any

The following of the basic principles o
orgznization. The principles of organizations arc as follows:

(z2) Unity of objective: Every part of the organization and the organization as a whole

should be geared to the basic objective determined for the enterprise.

b) Efficiency: The organization should be able to actain the predetermined goals and
objectives at the minimum costs. IF it does so, it will satisfy the test of efficiency. From
the point of view of an individual, a good organization should provide the maximum
work satisfaction. Similarly, from the social point of view, an organization will be

cfficient when it contributes the maximum towards the welfare of the sociery.



https://play.google.com/store/apps/details?id=com.cam.scanner.camscanner.documentscanner

(c)

(d)

(e)

(k)

()

dircctly.

Span of C
ontrol: It refe :
/ frol: It refers 1o the number of cimployees a mana
r at ﬂ\c

There i
1S no ¢ - . . we
) . orrect number (or the span of control but with normally narrowe :
op o . I [

l the organization than at the botom, Generally, the more complex a subordinates

job the fewer <ire - i .
job the fewer such subordinates teport to a manager. ‘The more routine t

per can supervise

he work the
greater the number to be supervised,

Division Uf 1..:!‘::::::11\ !"uml nt!:.miz.l\i:)_n :.]\Qll'ld consist of dcpnrtt_ncnt_s_cstab\lshcd o

reflect the most eflicient breakdown of enterprise activitics. I’r()pC_E,(_l.EEE‘.LU__WM“PE

is an important principle of sound orpganization,

Clear Definitions of,Functional Authority: The duties and the authority relationships
b ——— - o .

in a good organization must be properly and clearly defined, so that there is no

confusion or overlapping.

Chain of Command: The unbroken line of reporting relationship from the bottom to

the top of the organization is called chain of command. It defines the formal decision

making structure and provides for orderly progression up and down the hierarchy for

both decision making and communication.

Management by Exception: A good organization is so arranged that only exceptionally

he higher levels of management and the routine

complex problems are referred to
This is called as exception principle

matters are dealt with by exccutives at lower levels.
or management by exception.

Unity of Cominand: Each person within the organization takes orders and reports to
only one person. It should guide any attempt to develop operating relationships.

of Direction: A principle of organizing that calls for the establishment one

Unity
esignated task of the organization is called as unity of direction.

authority figure for cach d

This principle has the authority to coordinate all plans concerning that task.

Responsibiliry: It is the obligation to carryout one’s assigned duties to the best of one’s
abilities. Responsibility cannot be delegated to an employee rather the employee's

acceptance of an assignment creates an obligation to do his or her best. Responsibility

is a step in the delegation process.

Authority and Responsibility: The authority and responsibility must be coexisting in
an organization. If it is not so, the subordinates cannot discharge their responsibility

for want of necessary power to proceed with the task assigned. .

Balance: Some matters may be left to be disposed off by the subordinates at the lower
or the lowest level while some other must be centralized and a balance between
centralization and decentralization should thus be achieved. Management determines

where authority resides in an organization - either to cancentrate authority for decision
Scanned By Scanner Go
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MANAGEMENT BY OBJECTIVES (MBO)

30)

Definition

managers an
ch individuz

“MBO is a process whereby the

According t© George S Odiorne (1956),
subordinates of an enterprise joindy ide tify its common goals, define ca
lities 1 terms of results cxpactul of time, usc these measures 3
ividual.”

tion of each ind

major arca of rcspon\llu
tions to achiev

ouides for operating the unit,

O aims at describing 2 definite scopc of goal

ing the contribu

s and suggest direc

c th

and assess

MB

gmls
7. Performaince
of enterprise
goals.

Correction
. Correction

|

‘ /1 Format iial

enterprise (Mutua
Adjustment

l goals.

3. |deas from
Junior level
management.

2. Measure
performance of
enterprise goals.

4. |deas from
Junior level

— |
management.

6. Training
organisation to
goal structure.

L ———
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Advantages of MBO

o

productivity.

Helps in gaining murual commitment and higher
irecti : ization.
MBO eives meaning, purpose and direction to the pcnplc and organiza

Aids in coordinadon between various departments.

Provides mativation to PE{:p]L‘,

Facilitates managerent think of the future.

Helps organization to concenirate on critical success factors.

Ic fosters better understanding and relationship amongst workers.

Limitations/Disadvantages of MBO

o

o]

Though the benéfits arc manifold MBO adoption pméess is slow.
The leadership quality and his contribution does not find a central plac.e.

el
The goal conflicts are not talen into account

Onﬂ DF [hc - . g
prerequisite of successful MBO i :
. S : 15 good re i : 1 is abs
In many organization. _ B porting system which
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)
aslow’s Theory of Motivation (1943)

I
5 5 y stulated
This theory divides human need into 5 [evels. Te l’mf“"'i”dc;lq(l’:rs(m";c) ﬂ.lat. Peop,
have needs and the needs can influence I ehaviour. l?nc nceds o h.ispbas.m nccdr;:l?r;ukd
ser their importance. The person pocs to next level of nccd once ulfilled
7 iome extent. /
¢
o 5. Self Actualization
Needs
4. Esteem Needs 4&
3. Social/Belonging Needs
2. Safety/Security Needs
(.. 1. Basic or Physiological Needs

Figure 4.3: Maslow Theory of Motivatidn

he person scales from basic to advance needs higher up in the hierarchy of needs.

) Basic Needs or Physiological Needs: Most basic powerful and obvious needs in¢
are: need for food, oxygen, sleep, water, protection from climate (shelter), etc |

organizational context basic ncedsiarc represented by salary, working conditio”

Scanned By Scanner Go
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I

S e —

(ii)

(iii)

(iv)

Vierits of

demerits of Maslow’s Theory

Chapter 43 Directing and controlling w 317

seart longing (or safety’ E.g
jobbying for

SQ!} fVEea&' () { &
t.y . ncec ll\c l)LISiC l\L?l‘.(l.‘i arc .'i:llis 'I.L'd I'.l(:(.)p‘ >
u[ﬁ()llsn [T

y fOf lﬂyo :

shelter. In tl '
5 1C¢ Qrype At . . :
ganization job security, sale working, conditions,
pratuit

[ pension, v seniorit

rotecti islati ;
protective legislation scheme like 1 L sUEANCE
SUrance,

cual respects mutual

etcC.
jzation reamwor

Belonging Needs or Affiliation

crust, afliliadon,

ceds include: mu

Needs: Belonging ©
cte. In the organ

admiration, group membership,
mif‘.cmion), ete.

belonging to the group (group ide
fon

nd esteem from-othcrs. In the organizat
e, b“ity,

job title, mer

Esteem Needs: Commanding respect
re concerned with i pay incred respons!

esteems needs a
ging work.

sfied self-

ood work, challen
tential. In

level needs are sati

ccognition for g
K of onc’s PO

tion Needs: When all t

ont — striving 10

r
S e{f-dc.fmzlfza
actualization c

the organizatio

e four carlier

reach the ped

ome o the forefr

n context excelling in one’s job,

Jink about motivating

o managers 1o tl

Maslow’s Theory

heory o give 2t insicht for cth

This is the first ¢

their subordinates.
‘ndividual differences,

s to answer certain intricate questions like:

ed the managers:
otivation as 2 constantly changing

This theory tend
chat had puzzl

erC.,

Need hierarchy mod

el 1s dynmnic and presents m

force.
' 1cl common S€

This theory has qualitics

innovative 1n paturc.

hat well defined by the theory.

Work motivation has not been ¢
Hicrarchy of needs does not exist in the same order but different needs act at the same

time.

I'he needs get prioritiscd.
{ needs.

countrics/back have different hicrarchy ©

Pco[)lc from different gl'O‘{l“d

v
W
e

Scanned with
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It

ty of action 1N the
g the activities of

? éb(QRDlNATION

pation 18 the orderl
bjective. Coort
r to realize crgnni:«:ntion

effort to provide uni

y arrangement of group
process of integratin

Coordi
lination 1s the

¢ of a common ©

nt department in orde al goals.

pursui
differe
Definition

“Coordination deals wit nsure the
f an objcc:tix'c. It 1s

efforts in order to €

L the task of blending
ns of planning organizing,

G.R. Terry;
accomplished by mea

successful strainment o
d controlling.

b3}

actuating an

E.EL. Breach, «Coordination 18 bal
working activities o T
members themselves.”

| keeping the teams together by ensuring 2

ancing anc
d seeing that these are

SUifab]C a]lccation Of l]c \fg_[’ious membefs an

performed with due harmony among the
In the words of Koontz and O’Dot1 01, 1
. onnell, “It scems more accurate to rcgard coordinasion :

for achievement of harmony of individual efforts towards t

the essence of managership
ne 1] : m
15 the purpose of management. Each of the manager

accomplishment of group gonls

functi ' .
tions is an-exercise in coordination’.
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|mp0rtancc of Coordination

ther functions of manager,

I is the Jeey to O
planning more purpose

! 'I\ICIH ,
srdination makes

Coordination is the cssence of manay

like planning, organization and conurol. Cot

vt and control more rcgulilllvc-

organization more \ ell-ki
an enterprisé are of varjey

d departments in

dividuals an
Hence, they need coordination

(i)  The activites carried on by
unity of dircction.

and diverse nature. They lack

rganizational goals. Sych
nization. Therefore, it is necessary
cess of coordination. In othe

n the organization.

between imlividunl goa]s and o

d chaos in the orga
through the pro
nity of action i

(ii) There is always some conflict
lead to confusioil ail
1al goals
bring t

conflict may

reconcile or integratc individ

coordination Is necessary to

\\'Ords,
zation. Hence, some

h degree of speciali

crial world, there is a hig
f specialists in an organizaton.

(it1) In modern indus
mechanism 1s r-:quired to .co:;.rdin:ztc the efforts o

= the economy and efficiency of operations.

(iv) Coordination helps to impro
cen line and staff personnel.

~is bound to be there betw
n relations between

(v) Inbig organizations,
Coordination is nceded to preven —onflicts and promote good huma

line and staff p.:rsonn*:l.

some cor lic

. fr=quently divided into departments, divisions, section:

')r:;:lnf:cr‘;f:on a
~rforms a different job. Therefore, coordination i

(vi) Functions of an

and the like. Exch departme:nt p
necessary to have a link between these various functions and assure their designec
contribution to the total resulcs. .

heir morale

v-. . . . . PR . .
(vii) Good coordination gives job satisfaction to the cmployecs which keeps t

high and paves way for their rctention:
rations becom™

(Vlll In a lar 0 {zatl 1 AV I OPC
HCHCC: 10“

multiple and comnplex. Per
P cornplex. Person:! contacts between executives are few.

o o
ethods of coordination becorne essential
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(e OR PF :SE [T WORTH COMPARISON -
DS A B : n its investment.
- ??f?sggate the interest 1 ¢ tht the firm wishes to earn o
(i1) Determine the service life [ the project. .
(iii) Determine the cash i flov ; over each serv1ce:. -
i cas fiow r each service period.
(iv) Determine the cash ¢ verfi ws ove '
(V) Estimate the net cash low (inflows — outflows).

Ifthere is single investmeént rop sal, whether a project will be selected or rejected that
can be made accordinoly.

If PW > 0, select (he prdy sal. .

\ positive NPW means the equivalent worth of the
nflows is greater thay (e cqui

aler worth of outflows. S0, the project makes profit.

IfPW <, reject the

nves: jep
f the inflows is less 1]

Jroject. A negative NPW
1an the - gyjy

means the equivalent wortl
lent worth of outflows,

IfPW = 0, remai indifferc. g 1 e INvestmen
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ZATES OF RETURN METHOD o — 127
The rate of return technique is one of th
projwt' In this meth.olcli, the interest rate per interest perio

lent worth (either present worth, future worth

iva . ;
C;;:S o expendllures) to that of cash inflows (i.c. in

d is determined, which cquates the
Or annual worth) of cagh outflows (i.e
comes or revenues) of an alternative

Three rates of return appear frequently in engineering economy studies:

o Theminimum acceptablerateof return (MARR): Itisthe rate set by an organization
to designate the lowest level of return that makes an investment acceptable,

, The internal rate of return (IRR) : It is the rate on the unrecovered balance of the
investment in @ situation where the terminal balance is zero. It is a discount rate at
which NPV =0. . :

o The external rate of return (ERR) : It is the rate of return that is possible to obtain
foran investment under current economic conditions.

253 MINIMUM ACCEPTABLE RATE OF RETURN o _ "

The minimum acceptable rate of return, also k{lown as the minimum attractive {Ztelo
<tun, is a lower limit for investment acceptfibihty set by organizations or indivi u:es.
1;i5 a, device designed to make the best possible use of a limited resource, Lf:it;'\ni?l tti
Rates vary widely according to the type of o rgan(':lzang?lr;;t?:?idpg::?ifcTﬁ%t;:se;:ave utilized
organization. Historically, government agencies and re ol ises. Within a given

' red rates of return than have ‘competitive mfiustna_ enterprises. Wi
;T;;;qul,u:;g required rate may be different.for various d1\!151;2_)nsmor1;l z::tn:;:;?%ﬁzs;
variations usually reflect the risk involved. For 1flstance, the r.elt:a1 on;edevelogment projects
reduction proposals may be lower than that required for researcii a

in which there is less certainty about pr ospective cash flows.

QA2 INTERNAL RATE OF RETURN eturn method. It is also known

The IRR is the best-known and most widely used rate—of-ﬂ e o, The intern prgeas
8 the true rate-of-return method and the discounted cash flo

: f
z . . tarest rates, is the rate 0
of return, represented by i in the traditional interpretation of (;I::::sce of an investment.
Interest eamed by an alternative investment on the unrecovere

ating the annual, present, or flltl.ll‘e

The intemnal rate of return can be calculated by equ allows the equality;

P that :
Worth of cash flow to zero and solving forthe interest rate (IRI:gr results in @ polynomial
" should be added that solving for the interest rate in this man tion. In such

. SE . : 1e roots of the equa d |
“Quation tha js 4 function of i, which may,result in multgiie " though both the EAW and .

Cases the IRR may or may not be one‘omh‘ééquation ro f present worth,

- (1 deﬁned i LA -
g 1 O2¢hes are legitimate, the rate OffellIn 1* O?E?{ is . ¥
Tthe constraints of possible i* roots the g o
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irred on production/ X
hich can be divided |

52 ELE C‘zl
g of various expenscs inct

Cost

of :

N l?foductloni manufacturing consist

into thr uring of goods or services. These are (he elements of cost W
€e groups Material, Labour and Expenses as o fig 5.1

f costs

Clement ©
Labour Other axpenses

h'lnlcrinl

Indirect Direct Ind Indirect

Direct if‘cct/

Overheads

Productio'n or Adm.inistrative celling Distribution
Works overhead overheads overheads overhead
-~
Fig 5.1 Elements of Cost
(1) MATERIAL : |
jal i ired. For example to manufacture shirts clot!

| which becomes an integr:

To produce
cific physical un

is required and to produce
part of finished product an

is termed as
material, production material, stores materia
made is known a5 material. It may be in a raw of manufacture

into two categories:
o Direct Material
o Indirect Material

is required. All materia
niently assigned to SP©

escribed as raw material,

], etc. The substance from whiC
d state. Material is classt

al: Direct Material is that material which canbe easily identiﬁed and rel
terial for making furniture, ¢

duct, job, and process. Timber is a raw ma
4 Gold/ silver for making jewel

a) Direct materi

with specific pro
for making garments, sugarcane for making sugar, an

etc are some examples of direct material.
b) Indi ol e ‘ Ly
..él-n-v"en'i;‘:: l?élte::gll . Indirect Material 1s that material which cannot be easily
Consumablg sto::jsl e? and related .Wi.t h a particular product, job, process, an
material. Indirect n,]r(:tlegr;lswaste, printing and stationery etc, are some exam

. : a ) : of It
department, ‘o used in the factory, the office, o the selling and
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v

gOUR : Labour is the main factor of e
149

[2)
ished oods, human re ' product;
finished & ’ csource is need 'on. For conversi

nto : - ed
ur cost is the main ele » and suc on of ra .
{gbour: La,bo | hain clement of cost in . uch human resouree ; % Ieenel
d into tWO categories: SUIn a product or geryice, | l:, termed ag
+ Labour can be

o Direct Labour

o Indirect labour

) pirect lalu.)ur: l‘,abour' ‘which takes :\cllivc and direct part in the producti
conm‘od"t)" Dm:?l labour is that Iabfm.r wln.ch can be casily identified En?l :} clllon of a
srffiﬁc' product, job, process, and acu.vny_ Dircct labour cost is easily traccabl: tamd iy
roducts- Direct l:.lbOUI: D specially and conveniently traceable to Speciﬁc0 SP:;.mﬁc
Direct labour varies d:r.cctly with the volume of output. Direct labour is also 131:2 ucts.
rocess labour, productive labour, operating labour, direct wages, manufacturing ;van as
etc. Cost of wages paid to carpenter for making furniture, cost of a tailor in producing rega?’
o made gEN; cost of washer in dry cleaning unit are some examples of direct labour. y

b) [ndirect labour: Indirect labour is that labour which can not be easily identified and
related with specific product, job, process, and activity. It includes all labour not directly
engaged in converting raw material into finished product. It may or may not vary directly
withthe volume of output. Labour employed for the purpose of carrying out tasks incidental
to goods Or SErvices provided is :ndirect labour. Indirect labour is used in the factory, the
office, or the selling and distribution department. Wages of store-keepers, time-keepers,
salary of works manager, salary of salesmen, €tc, arc all examples of indirect labour cost.

3) EXPENSES :
All cost incurred in the production of finished goods other than material cost and labour

costare termed as expenses. Expenses are classified into two categories:

¢ Direct expenses
¢ Indirect expenses (An item of overheads)

:) Direct expenses : These are expenses which are directly, easily, zmd.wholl:,rde}lloct::;;:;iJ :;
pecific cost centre or cost units. All direct cost other than direct material and Qir€C

d X enses.
Sr; termed as direct expenses. Direct expenses arc also tcrn}ed as char%cat;lcei :l disigns,
me examples of the direct expenses are hire of special machinery, costof $P

m . ward carriage
ulds or patter ns, feed paid to architects, Surveyors and other consultants, 1°W

and . .
freight charges on special material, Cost of patents and royalties.

t{ﬁe directly, ea.sily, and W

Specify ¢
¢ cost center or cost units. All indi’rec,tzcosts other than 10t 1\
PR T .

Our ar, o ix
¢ termed as indirect expenses. THUS,

b) Ing; N
ndl v -
rect expenses : These expenses Canfio

i

o

o A

[hae 3 *,w‘",
s S
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= hrrl—- . .
| 59 De ceciation 18 the decrease in value of physiyg

- - Most assets are worthless as they age, Pl’Odu';{P : o

g0 Jable through wear and tear. This lessening ; . ki

.\ 1 \,3‘ )
: ‘essc{;ccs 15 an operating expense. Instead of charging the fy|

etime expense, the oullfly is spread over the life of the agset ;
sl dcprcciation deductions arc intended to match the YCarlln
Ann '1 ot in the production of income over the assets actual cc}:o

" :
purchase price of 5 new asset

the accounting records
fraction of valye used

» H . n()mi i
an never be established until the asset is retired t?r (l)lfc. The actual
‘ m service,

4mov
D_,Pn‘ciation can be defined in three senses like

o Physical depreciation, which is caused due to physical decay.
. Economic dcpreciation is the loss of value of an asset due to outdated technology
g sense depreciation is the estimated value of fall in the worth of an asset.

'
I
[ p qll ¢ . -
| by *  of depreciation €
1
:
|
}
i

o Accountin

USES OF DEPRECIATION:

59.1 CA
several reasons.

-~ Assets depreciate its value for
L 1. Physical depreciation: Depreciation resulting in physical impairment of an asset is

known as physical depreciation. This type of depreciation results in the lowering of the
ability of a physical asset to render its intended service. The primary causes of physical

depreciation are
(a) deterioration due to
rotting of timbers, chemica
(b) Wear and tear charges
(c) Physical decay
(d) Time factors etc.

action of the elements including the corrosion of pipe, the

| decomposition and so on.

T —r——
—————

results a change in the demand fqr

L Functional depreciation: Functional depreciation
s of an asset may change

‘he.serviccs it can render. The demand for the service

® itis more profitable to use a more efficient unit

: glerc is no longer work for the asset to do,
ic work to done exceeds the capacity of !

-

£ W Ty
\ S —

oy T T Y Yy, _

he asset.
the old technology
the discovery 0

advancement ofnc
ontinue using J

lue. Obsolescence
r to make it une
[etc when they ar¢ no

]:cc:::]ological depreciation : Dueto
anothe:S °uldalcd3 so it I(?ses its valu
Orig;nalassct that is sufficiently superio

assct. Assets also become obso

conomical 10 €
longer needed.

Deprani.s: '
its {)ercﬁmtmn duc to accident Sometimes due 10 accide
Chnological characteristic inherent in it.
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